g = O —= O =
r ) r ! r ! r )
ensure ramp section —
has 100mm upstands s
U U
40mm tybular ‘U :|“:
handrail{at 900mm
with midrail
NN — [ - I — (]
engure handrails on platform are 'I/A Dl: g Dl:l

ensure steps are of equal | |

englosed with 10mm vertical posts bt
at 9pmm cenfres and are a | (111 =
900mm above ramp level — rise and have no open

-398 risers

A Proposed Front Elevation (Fences omitted from Front Elevation for clarity) gggﬁ?nhfer;gﬁgseﬁéti?d

[)aang ia?g paégtretumed RAMP DESCRIPTION

All metalwork to be galvanised to BS EN ISO 1461 prior to
A installation.

New galvanised ramp to be built over existing front door entrance
steps and taken into garden of Flat 0.1. Ensure maximum 15mm
door threshold.

Ramp frame to be formed with 50 x 50 x 2mm grade S275
galvanised hot rolled steel angles welded at connections. S275
tfextruded mild steel mesh to form non-slip surface, spot welded to
rame.

- FOUNDATIONS

Pad Foundations to be 300 x 300 x 150mm quick-setting concrete
and prior to pouring, each hole must be dug to a suitable depth and
backfilled with type one hardcore.

FIXING
Each post base plate to be fixed to pad foundations using M8 x
75mm rawl bolts.

steps to have contrasting

nosings as shown and _——50 x 50mm x 2mm grade

[

steps to be profiled at 90 “TT~ S275 hot rolled steel angle
I 1 degrees to minimise e N
tripping 4 \
/ \ .
— ensure no open risgrs ———— 1 r?'n?si ?ét{ggn?% g"n"g"?)wd
| | surface on steps, spot
ensure handrails on platform | — / welded to steel angles
are enclosed with 10mm A
vertical posts at 90mm centres- — /
and are at 900mm above-ramp ~ _ 7
level _ - ~— _ —7 Step Detail (NTS)
—~
—— — -
_ -
—~
| | " -308

Proposed Side Elevation (Fences omitted from Side Elevation for clarity)

40mm tubular galvanised mild steel handrail
grade:5275 galvanised ta BS EN 150 1461
40rmm flat bar welded to post

grade:5275 galvanised to BS EN 150 1461

10mm tubular gabranised mild steel vertical posts
grade:5275 galvanised to BS EN 150 1461

20mm tubular galvanised mild steel mid-rail
grade:3275 galvanised to BS EN ISC 1467

ramp frame formed with 50:x50x2mm grade 5275
galvanised hot rolled steel angles welded at connections

A0mm tubular galvanised mild steel post welded to frame
grade:5275 galvanised to BS EM SO 1461

200:200mm 5275 galvanised mild steel base plate
fixed to existing tarmac using M8x75 rawd bolts

100mm 5725 galvanmised hot rolled mild steel upstand
welded to frame

5275 extruded mild steel mesh to form non-slip suiface.
spot welded to frame

Typical Ramp Details

40mm tubular handrail—
at 900mm with midrail
ensure ramp section
has 100mm upstands r 0
X
I I N 2
T o P & L close offlexisti
oty (=3
ensure handrails on platform are =3 113 gradie;t = — _ [B|levsl platform
at a height of 900mm on platform 8 5 SR
and aregenclosed with 10[r’nm — 4ol Sl fledl fence ensure handrails are at a height of 900mm on
vertical posts at 90mm centres, X SR 3 \ plat{orn? ggd are entclosed with 10mm vertical
ensure no openings are greater S Y— = . posts at 90mm centres, ensure no openings
than 90mm 5erticglly or g & S —2 g N engur:e steps are of equal rise are greater than 90mm vertically or
horizontally leveel platform 1:12 gfaffiento 11000 and have no open risers horizontally
e S T —¢ new 600 x 900mm slabs laid to
T~ 2000 < \meet existing perimieter slabs
[\ -398- ensyre handrails extend 300mm
T ] T enshuce handrai beyond end of steps and are
N f exténd 30pmm Beyond returned\b\ack into post
7 N end of ran o N\ N
, / N returned Hack into gost ——Y} move existing\
Y 600 x—— > | \ gate for access \
new X = to Flat 0.2 N — =17 =
7 900mm slabs — | garden AN - -—40‘rrt1m t\lutibliilatr gfalvanised mild steel
P post we o frame
N N 4 no. M8 X/75 fawl bolts— ?2%‘116:32 galvanised to BS EN ISO
remove section of fence, i N Y \ ) )
create new fence and gate N / —— 200 x 200mm S275 galvanised mild
access to Flat 0.1 garden L N steel base plate fixed to existing slabs
7 | N N / using M8 x 75mm\rawl bolts
% N
s } fixing detail capable of
7 ; ; BN existing ——% K | resisting loads calculated
- ;,‘822%&?“4%5%2@'“" mild steel | concrete 17 ) in accordance with BS EN
4no. M8 x 75 fawl bolt g[:rade:SZ gélvanised to BS EN ISO L slabs f :a%gégég ?"1(’ associated
7/ 461 | -1-
\
/
/ 200 x 200mm S275 galvanised mild |
steel base plate fixed to concrete pad
/ using M8 x 75mm,rawl bolts
geotech Y new chips | | I |
membrane
Proposed Plan -
FIXING DETAIL
(at slabs)
| | | | | | | | | | |
300 x 300_x\150mm 0 5 10 METRES
Guick-setiing Sorcrete P SCALE CITY BUILDING
“FIXING DETAIL Project Project No. Drg No. Revision |Scale 350 Darnick Street
on grass
ong Flat 0.1, 4 Ardconnel Street 24-WH-007 | 003 _ 1:100@A3 Glasgow G21 4BA
Tel. 0141 287 2200  fax. 0141 287 2159
Drawing Title Drawn Date
Proposed Plan and Elevations S.McCluskie April 24 e-mail marketing@citybuildingglasgow.co.uk

site www.citybuildingglasgow.co.uk

DO NOT SCALE: WORK TO FIGURED DIMENSIONS ONLY




